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Power Raised 
to a Power

Explain and apply the exponent laws 
for powers with intergal exponents:

(xm)n = xmn

When you have a power raised to another 
power, then you multiply the exponents 
together.

A Power Raised to a Power

(24)3
= (24)(24)(24)
= 24 + 4 + 4
=212

Examples:

(y2)3
= (y2)(y2)(y2)
= y2 + 2 + 2
= y6

(y2)4
= y(2)(4)
= y8

(35)2
= 3(5)(2)
= 310
= 59 049

(42)n = 410
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(x­2)n = x­6 (y2)3 = yn

Simplify the following.

(z2)3 x (z4)2

= z(2)(3) x z(4)(2)
= z6 x z8
= z6 + 8
= z14

Pu
ll

Pu
ll

(n­5 x n13)­4

= (n­5 + 13)­4
= (n8)­4
= n(8)(­4)
= n­32

Pull
Pull

Again, we can combine exponent rules.
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Simplify the following.

Pull
PullPu

ll
Pu
ll

Simplify the following.

Pu
ll

Pu
ll Pull

Pull
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9N5 – Explain and apply the exponent laws for powers with integral exponents.
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Part I: Review

1. Which of the following numbers is an irrational number? (1 mark)


a. 
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2. Which of the following is the coefficient of 
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Part II: A Power Raised to a Power

4. Write each of the following as a single power. (1 mark each)


a. 

[image: image18.wmf]=


4


3


2


)


(


 _______

b. 

[image: image19.wmf]=


2


5


3


)


(


 _______

c. 

[image: image20.wmf]=


7


2


4


)


(


 _______



d. 

[image: image21.wmf]=


3


5


10


)


(


 _______
e. 

[image: image22.wmf]=


3


3


)


(


y


_______

f. 

[image: image23.wmf]=


7


6


)


(


t


 _______


g. 

[image: image24.wmf]=


5


1


)


(


m


 _______

h. 

[image: image25.wmf]=


-


-


3


2


)


(


x


 _______
i. 

[image: image26.wmf]=


3


0


)


(


x


 _______


5. Find the value of 
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 in each of the following. (1 mark each)
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6. Simplify the following expressions. (1 mark each)
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7. Use the exponent laws and guess and check to find the value of 
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 in each of the following. (1 mark each)
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8. Write each of the following in the simplest exponential form. Hint: Perform the operations inside the brackets first. (1 mark each)
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9N5 – Explain and apply the exponent laws for powers with integral exponents.
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Part I: Review

1. Which of the following numbers is irrational? (1 mark)


a. 
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2. The coefficient of the term 
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3. When expanded, which of the following powers has 43 as the last two digits? (1 mark)
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Part II: Exponent Rules

4. Use the laws of exponents to write each expression as a power. (1 mark each)
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5. Simplify and then use guess and check to find the value of 
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. (1 mark each)
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6. Simplify. Write your answer as a power. (1 mark each)
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7. Simplify. Write your answer as a power. (1 mark each)
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8. Simplify. Write your answer as a power. (1 mark each)
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Part I: Review

1. If the square base of a pyramid covers an area on the ground of 10 000 m2, the length of one side of the pyramid is


a. 500 m

b. 400 m

c. 250 m

d. 100 m


2. In simplest form, 
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3. If 

[image: image12.wmf]3


-


=


x


, then 

[image: image13.wmf])


)(


(


)


(


5


2


2


3


x


x


x


 is


Part II: Exponent Rules

4. Simplify. (1 mark each)


a. 
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5. Find the value of 
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 in each of the following. (1 mark each)
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